
Examples I probably can’t draw



θ = (0, 0.5), λ = ((3), (12)), µ = ((2), (2, 1)). [λ] and [µ] are
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e = 4, S = {0, 2}, γ = (8, 7, 6, 5).

[γ] is

If M = {0, 0, 2}, then λ = (9, 8, 7, 5) and µ = (8, 72, 6, 1) are both
in ΓM.



e = 4, S = {0, 2}, γ = (8, 7, 6, 5). [γ] is
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If M = {0, 0, 2}, then λ = (9, 8, 7, 5) and µ = (8, 72, 6, 1) are both
in ΓM.



e = 4, S = {0, 2}, γ = (8, 7, 6, 5). [γ] is
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If M = {0, 0, 2}, then λ = (9, 8, 7, 5)

and µ = (8, 72, 6, 1) are both
in ΓM.



e = 4, S = {0, 2}, γ = (8, 7, 6, 5). [γ] is
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If M = {0, 0, 2}, then λ = (9, 8, 7, 5)

and µ = (8, 72, 6, 1) are both
in ΓM.



e = 4, S = {0, 2}, γ = (8, 7, 6, 5). [γ] is
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If M = {0, 0, 2}, then λ = (9, 8, 7, 5) and µ = (8, 72, 6, 1)

are both
in ΓM.



e = 4, S = {0, 2}, γ = (8, 7, 6, 5). [γ] is
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If M = {0, 0, 2}, then λ = (9, 8, 7, 5) and µ = (8, 72, 6, 1)

are both
in ΓM.



e = 4, S = {0, 2}, γ = (8, 7, 6, 5). [γ] is
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If M = {0, 0, 2}, then λ = (9, 8, 7, 5) and µ = (8, 72, 6, 1) are both
in ΓM.



e = 4, γ = (8, 5, 4, 32, 1). [γ] is
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ē = 5, κ̄ = (0, 1), θ̄ = (0, 0.5) and γ̄ = ((7, 6, 4), (3, 2)). [γ̄] is
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κ = (0, 1), e = 3, θ = (0, 20), γ = ((6, 4, 22, 12), (5, 3, 1)).

[γ] is

Let λ = ((7, 5, 23, 12), (5, 3, 1)) and µ = ((6, 4, 3, 2, 13), (5, 4, 2)).



κ = (0, 1), e = 3, θ = (0, 20), γ = ((6, 4, 22, 12), (5, 3, 1)). [γ] is
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Let λ = ((7, 5, 23, 12), (5, 3, 1)) and µ = ((6, 4, 3, 2, 13), (5, 4, 2)).



κ = (0, 1), e = 3, θ = (0, 20), γ = ((6, 4, 22, 12), (5, 3, 1)). [γ] is
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Let λ = ((7, 5, 23, 12), (5, 3, 1))

and µ = ((6, 4, 3, 2, 13), (5, 4, 2)).



κ = (0, 1), e = 3, θ = (0, 20), γ = ((6, 4, 22, 12), (5, 3, 1)). [γ] is
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Let λ = ((7, 5, 23, 12), (5, 3, 1))

and µ = ((6, 4, 3, 2, 13), (5, 4, 2)).



κ = (0, 1), e = 3, θ = (0, 20), γ = ((6, 4, 22, 12), (5, 3, 1)). [γ] is
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Let λ = ((7, 5, 23, 12), (5, 3, 1)) and µ = ((6, 4, 3, 2, 13), (5, 4, 2)).



κ = (0, 1), e = 3, θ = (0, 20), γ = ((6, 4, 22, 12), (5, 3, 1)). [γ] is
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Let λ = ((7, 5, 23, 12), (5, 3, 1)) and µ = ((6, 4, 3, 2, 13), (5, 4, 2)).



ē = 3, ī = 2 and γ̄ = (14, 12, 10, 8, 6, 4, 2).

[γ̄] is

Let λ̄ = (15, 13, 10, 9, 7, 4, 2) and µ̄ = (14, 12, 11, 8, 7, 4, 3, 1).



ē = 3, ī = 2 and γ̄ = (14, 12, 10, 8, 6, 4, 2). [γ̄] is
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Let λ̄ = (15, 13, 10, 9, 7, 4, 2) and µ̄ = (14, 12, 11, 8, 7, 4, 3, 1).



ē = 3, ī = 2 and γ̄ = (14, 12, 10, 8, 6, 4, 2). [γ̄] is
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Let λ̄ = (15, 13, 10, 9, 7, 4, 2)

and µ̄ = (14, 12, 11, 8, 7, 4, 3, 1).



ē = 3, ī = 2 and γ̄ = (14, 12, 10, 8, 6, 4, 2). [γ̄] is
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Let λ̄ = (15, 13, 10, 9, 7, 4, 2)

and µ̄ = (14, 12, 11, 8, 7, 4, 3, 1).



ē = 3, ī = 2 and γ̄ = (14, 12, 10, 8, 6, 4, 2). [γ̄] is
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Let λ̄ = (15, 13, 10, 9, 7, 4, 2) and µ̄ = (14, 12, 11, 8, 7, 4, 3, 1).



ē = 3, ī = 2 and γ̄ = (14, 12, 10, 8, 6, 4, 2). [γ̄] is
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Let λ̄ = (15, 13, 10, 9, 7, 4, 2) and µ̄ = (14, 12, 11, 8, 7, 4, 3, 1).



¯̄e = 4, ¯̄i = 1, ¯̄θ = (0, 0.5), ¯̄γ = ((9, 6, 3), (42, 23, 13)).

In
all three examples, dλµ(v) = v11 + 2v9 + 2v7 + v5.



¯̄e = 4, ¯̄i = 1, ¯̄θ = (0, 0.5), ¯̄γ = ((9, 6, 3), (42, 23, 13)). Let
¯̄λ = ((10, 7, 4), (42, 3, 22, 13)).
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In all three examples, dλµ(v) = v11 + 2v9 + 2v7 + v5.



¯̄e = 4, ¯̄i = 1, ¯̄θ = (0, 0.5), ¯̄γ = ((9, 6, 3), (42, 23, 13)). Let
¯̄λ = ((10, 7, 4), (42, 3, 22, 13)).
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In all three examples, dλµ(v) = v11 + 2v9 + 2v7 + v5.



¯̄e = 4, ¯̄i = 1, ¯̄θ = (0, 0.5), ¯̄γ = ((9, 6, 3), (42, 23, 13)). Let
¯̄λ = ((10, 7, 4), (42, 3, 22, 13)).
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In all three examples, dλµ(v) = v11 + 2v9 + 2v7 + v5.



¯̄e = 4, ¯̄i = 1, ¯̄θ = (0, 0.5), ¯̄γ = ((9, 6, 3), (42, 23, 13)). Let
¯̄λ = ((10, 7, 4), (42, 3, 22, 13)). Let ¯̄µ = ((9, 6, 3), (5, 4, 3, 23, 13)).
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In all three examples, dλµ(v) = v11 + 2v9 + 2v7 + v5.



¯̄e = 4, ¯̄i = 1, ¯̄θ = (0, 0.5), ¯̄γ = ((9, 6, 3), (42, 23, 13)). Let
¯̄λ = ((10, 7, 4), (42, 3, 22, 13)). Let ¯̄µ = ((9, 6, 3), (5, 4, 3, 23, 13)).
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In all three examples, dλµ(v) = v11 + 2v9 + 2v7 + v5.



¯̄e = 4, ¯̄i = 1, ¯̄θ = (0, 0.5), ¯̄γ = ((9, 6, 3), (42, 23, 13)). Let
¯̄λ = ((10, 7, 4), (42, 3, 22, 13)). Let ¯̄µ = ((9, 6, 3), (5, 4, 3, 23, 13)).
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In all three examples, dλµ(v) = v11 + 2v9 + 2v7 + v5.


